

# The Solution of The Linear Delay Differential Equations with Aboodh Transform

Özgür KOTAN<sup>1\*</sup> and Ercan CELİK\*

*\*Ataturk University Faculty of Science, Department of Mathematics, Erzurum-TURKEY*

[Ozgurkotan2525@gmail.com](mailto:Ozgurkotan2525@gmail.com), [ercelik@atauni.edu.tr](mailto:ercelik@atauni.edu.tr)

## Abstract:

In this paper, we apply Aboodh transform to solve linear delay differential equations. Firstly, The basic properties of the Aboodh Transform are given. Secondly, Existence of the Aboodh transform proved. Then, the two linear delay differential equations are solved by Aboodh transform. This means that Aboodh transform is a powerful tool for solving linear delay differential equations.

**Keywords:** Delay Differential Equations, Linear Delay Differential Equations, Aboodh Transform, Existence of the Aboodh Transform.

## 1. Introduction

The Aboodh Transform is integral transform. There are many integral transforms in the literature. Some of these transformations are Laplace Transform, Fourier Transform, Sumudu Transform, Elzaki Transform, ZZ Transform [1-7]. These transformations are used to solve for differential equations and integral equations. The most common of these transformations is Laplace transform. The Aboodh transform was first presented by Khalid Aboodh in 2013[9-12]. This transformation has also been applied to the solution of ordinary differential equations and partial differential equations. The purpose of this paper is to solve the linear delay differential equations with the Aboodh transform. The Aboodh transform is obtained from the standard Fourier integral. Based on the mathematical simplicity and basic features of the Aboodh Transform. This transformation facilitates the process of solving ordinary and partial differential equations.

Delay differential equations are used to define many physical phenomena in medicine, engineering, economics, biology, physics, and chemistry. Many methods have been developed to solve these equations[13-15].

---

<sup>1</sup> Corresponding author

This article was planned as follows: In section second part, the basic properties and existence of the Aboodh transformation are given. In the third part, application was given. In the fourth part, the result is given, respectively.

## 2. The Aboodh Transform:

The Aboodh transform defined for  $t \geq 0$ . Let  $f(t)$  be an exponential order function in the set  $A$  as

$$A = \{f(t): \exists M, k_1, k_2 > 0, |f(t)| < Me^{-vt}\}.$$

Where, the constant  $M$  is finite number and  $k_1, k_2$  are finite or may be infinite numbers. Then the Aboodh transform is,

$$\mathcal{A}[f(t)] = A(v) = \frac{1}{v} \int_0^\infty f(t)e^{-vt} dt \quad t \geq 0, k_1 \leq v \leq k_2. \quad (1)$$

The unique function  $f(t)$  in (1) is called the inverse transform of  $A(v)$  is indicated by

$$f(t) = \mathcal{A}^{-1}[A(v)].$$

### 2.1. The Aboodh Transform of Some Required Functions

**Theorem 1.**

$$1. \mathcal{A}(1) = \frac{1}{v^2}$$

$$2. \mathcal{A}(t^n) = \frac{n!}{v^{n+2}}$$

$$3. \mathcal{A}(e^{at}) = \frac{1}{v^2 - av}$$

$$4. \mathcal{A}(\sin at) = \frac{a}{v(v^2 + a^2)}$$

$$5. \mathcal{A}(\cos at) = \frac{1}{(v^2 + a^2)}$$

$$6. \mathcal{A}(t^n e^{at}) = (-1)^{n+1} \frac{n!}{v(a-v)^{n+1}}$$

$$7. \mathcal{A}(u(x-a)) = \frac{e^{-av}}{v^2}, \quad v > 0$$

**Proof 2.** Let  $f(t) = t^n$ , where  $t \geq 0$ , then Aboodh transform of this function can be written as

$$\mathcal{A}(t^n) = \frac{1}{v} \int_0^\infty f(t)e^{-vt} dt = \frac{1}{v} \int_0^\infty t^n e^{-vt} dt$$

$$\mathcal{A}(t^n) = \frac{1}{v} \int_0^\infty t^n e^{-vt} dt = \frac{1}{v} \left[ \frac{-t^n e^{-vt}}{v} \right]_0^\infty + \frac{n}{v} \int_0^\infty t^{n-1} e^{-vt} dt$$

$$\mathcal{A}(t^n) = \frac{1}{v} \left[ \frac{n}{v} \mathcal{A}(t^{n-1}) \right] = \frac{1}{v} \left[ \frac{n!}{v^{n+1}} \right] = \frac{n!}{v^{n+2}} .$$

**3.** Let  $f(t) = e^{at}$ , where  $t \geq 0$ , where  $a$  is a constant, then Aboodh transform of this function can be written as

$$\begin{aligned} \mathcal{A}(e^{at}) &= \frac{1}{v} \int_0^\infty f(t) e^{-vt} dt = \frac{1}{v} \int_0^\infty e^{at} e^{-vt} dt = \frac{1}{v} \int_0^\infty e^{(a-v)t} dt \\ &= \frac{1}{v} \int_0^\infty e^{-(v-a)t} dt = \frac{1}{v} \left. \frac{e^{-(v-a)t}}{-(v-a)} \right|_0^\infty = \frac{1}{v^2 - av} . \end{aligned}$$

Others can be proof similarly.

## 2.2. Existence of the Aboodh Transform

### Theorem 2.

If  $f(t)$  is piecewise continuous in every finite interval  $0 \leq t \leq K$  and of exponential order  $\gamma$  for  $t > K$ , Then its Aboodh transform  $A(f(t))$  exists for all  $s > \gamma, v > \gamma$ .

### Proof:

We have for every positive number  $K$  .

$$\frac{1}{v} \int_0^\infty f(t) e^{-vt} dt = \frac{1}{v} \int_0^K f(t) e^{-vt} dt + \frac{1}{v} \int_K^\infty f(t) e^{-vt} dt$$

Since  $f(t)$  is piecewise continuous in interval  $0 \leq t \leq K$ , there is the first integral on the right. Also there is the second integral on the right. So  $f(t)$  is of exponential  $\gamma$  for order  $t > K$ . To see this we have only to observe that in such case:

$$\begin{aligned} \left| \frac{1}{v} \int_K^\infty f(t) e^{-vt} dt \right| &\leq \frac{1}{v} \int_K^\infty |f(t) e^{-vt}| dt \leq \frac{1}{v} \int_0^\infty e^{-vt} |f(t)| dt \\ &\leq \frac{1}{v} \int_0^\infty e^{-vt} M e^{\gamma t} dt \leq \frac{M}{v} \int_0^\infty e^{-vt} e^{\gamma t} dt \leq \frac{M}{v} \int_0^\infty e^{-(v-\gamma)t} dt \\ &= \frac{M}{v} \left. \frac{e^{-(v-\gamma)t}}{-(v-\gamma)} \right|_0^\infty = \frac{M}{v} \frac{1}{v-\gamma} = \frac{M}{v(v-\gamma)} . \end{aligned}$$

### Theorem 3.

**i.** Let  $\mathcal{A}\{u(t)\} = \bar{u}(v)$  , then

$$\mathcal{A}\{u(t+1)\} = \frac{e^v}{v} [\bar{u}(v) - u_0 \bar{V}_0(v)], \quad u(0) = u_0$$

**Proof**

$$\text{i. } \mathcal{A}\{u(t+1)\} = \frac{1}{v} \int_0^\infty e^{-vt} u(t+1) dt$$

$$= \frac{e^v}{v} \int_1^\infty e^{-v\tau} u(\tau) d\tau$$

$$= \frac{e^v}{v} \left[ \bar{u}(v) - u(0) \int_0^1 e^{-v\tau} d\tau \right]$$

$$= \frac{e^v}{v} [\bar{u}(v) - u_0 \bar{V}_0(v)],$$

$$\text{ii. } \mathcal{A}\{u(t+2)\} = \frac{e^v}{v} [\mathcal{A}\{u(t+1)\} - u(1) \bar{V}_0(v)]$$

$$= \frac{e^{2v}}{v} [\bar{u}(v) - u(0) \bar{V}_0(v)] - e^v u_1 \bar{V}_0(v)$$

$$= \frac{e^{2v}}{v} [\bar{u}(v) - (u_0 + u_1 e^{-v} \bar{V}_0(v))] \quad u(1) = u_1,$$

$$\text{iii. } \mathcal{A}\{u(t+3)\} = \frac{e^{3v}}{v} [\bar{u}(v) - (u_0 + u_1 e^{-v} + u_2 e^{-2v}) \bar{V}_0(v)],$$

Generally

$$\text{iv. } \mathcal{A}\{u(t+k)\} = \frac{e^{kv}}{v} (\bar{u}(v) - \bar{V}_0(v) \sum_{r=0}^{k-1} u_r e^{-rv}).$$

**2.3. Remark**

Let  $H(t)$  is Heaviside unit step function, then

$$V_n(t) = H(t-n) - H(t-n-1), \quad n \leq t < n+1.$$

The Aboodh Transform of  $V_n(t)$  is

$$\begin{aligned} \bar{V}_n(v) &= \mathcal{A}\{V_n(t)\} \\ &= \frac{1}{v} \int_0^\infty e^{-vt} \{H(t-n) - H(t-n-1)\} dt \\ &= \frac{1}{v} \int_n^{n+1} e^{-vt} dt \\ &= \frac{1}{v^2} (1 - e^{-v}) e^{-nv} \\ &= \bar{V}_0(v) e^{-nv}. \end{aligned}$$

Where

$$\bar{V}_0(v) = \frac{1}{v^2} (1 - e^{-v}).$$

## 2.4. The Aboodh Transform of Derivatives

Let  $A(f(t))$  is Aboodh transform of  $f(t)$ , then

$$1. \mathcal{A}[f'(t)] = vA(v) - \frac{f(0)}{v}$$

$$2. \mathcal{A}[f''(t)] = v^2 A(v) - \frac{f'(0)}{v} - f(0)$$

Generally

$$3. \mathcal{A}[f^n(t)] = v^n A(v) - \sum_{k=0}^{n-1} \frac{f^k(0)}{v^{2-n+k}}$$

$$4. (i) \mathcal{A}\{tf(t)\} = -\frac{d}{dv} A(v) - \frac{1}{v} A(v)$$

$$(ii) \mathcal{A}\{tf'(t)\} = -\frac{d}{dv} \left[ vA(v) - \frac{f(0)}{v} \right] - \frac{1}{v} \left[ vA(v) - \frac{f(0)}{v} \right]$$

$$(iii) \mathcal{A}\{tf''(t)\} = -\frac{d}{dv} \left[ v^2 A(v) - \frac{f'(0)}{v} - f(0) \right] - \frac{1}{v} \left[ v^2 A(v) - \frac{f'(0)}{v} - f(0) \right]$$

$$(iv) \mathcal{A}\{t^2 f'(t)\} = v \frac{d^2 A(v)}{dv^2} + 2 \frac{dA(v)}{dv} - 2 \frac{f(0)}{v^3}$$

$$(v) \mathcal{A}\{t^2 f''(t)\} = v^2 \frac{d^2 A(v)}{dv^2} + 4v \frac{dA(v)}{dv} + 2A(v) - 2 \frac{f'(0)}{v^3}.$$

### Proof

$$1. \mathcal{A}[f'(t)] = \frac{1}{v} \int_0^\infty e^{-vt} f'(t) dt$$

$$\mathcal{A}[f'(t)] = \frac{1}{v} \left[ e^{-vt} f(t) \Big|_0^\infty - \int_0^\infty -ve^{-vt} f(t) dt \right]$$

$$\mathcal{A}[f'(t)] = vA(v) - \frac{f(0)}{v}$$

$$4. i) \mathcal{A}[f(t)] = A(v) = \frac{1}{v} \int_0^\infty f(t) e^{-vt} dt \quad t \geq 0, k_1 \leq v \leq k_2$$

$$\frac{d}{dv} A(v) = \frac{d}{dv} \left( \frac{1}{v} \int_0^\infty f(t) e^{-vt} dt \right) = -\frac{1}{v^2} \int_0^\infty e^{-vt} f(t) dt - \frac{1}{v} \int_0^\infty t e^{-vt} f(t) dt$$

$$-\frac{d}{dv} A(v) - -\frac{1}{v^2} \int_0^\infty f(t) e^{-vt} dt = \frac{1}{v} \int_0^\infty t e^{-vt} f(t) dt$$

$$\mathcal{A}[tf(t)] = -\frac{d}{dv} A(v) - \frac{A(v)}{v}.$$

Others can be proof similarly.

## 2.5. Linearity Property of Aboodh Transforms

If  $\mathcal{A}\{f(t)\} = A(v)$  and  $\mathcal{A}\{g(t)\} = B(v)$  then

$$\mathcal{A}\{af(t) + bg(t)\} = a\mathcal{A}\{f(t)\} + b\mathcal{A}\{g(t)\} = aA(v) + bB(v),$$

where  $a, b$  are arbitrary constants.

### 3. Applications

In this section, we will use the Aboodh transformation to find solutions of two the linear delay differential equations.

#### Application 1:

Consider linear delay differential equation

$$u'(t) = u(t - 1), \quad (2)$$

with the initial conditions

$$u(0) = 1.$$

#### Solution:

Taking the Aboodh transform of equation (2), we get

$$\begin{aligned} \mathcal{A}[u'(t)] &= \mathcal{A}[u(t - 1)] \\ vu(v) - \frac{u(0)}{v} &= \frac{e^{-v}}{v} [u(v) - u_0 \bar{V}_0(v)] \\ vu(v) - \frac{1}{v} &= \frac{e^{-v}}{v} \left[ u(v) - \frac{1}{v^2} (1 - e^{-v}) \right] \\ vu(v) - \frac{1}{v} &= \frac{e^{-v}}{v} u(v) + \frac{e^{-2v}}{v^3} - \frac{e^{-v}}{v^3} \\ u(v) \left[ v - \frac{e^{-v}}{v} \right] &= \frac{1}{v} + \frac{e^{-v}}{v^3} (e^{-v} - 1) \\ u(v) &= \frac{v^2 - e^{-v}}{v^2(v^2 - e^{-v})} + \frac{e^{-2v}}{v^2(v^2 - e^{-v})} \\ &= \frac{1}{v^2} + \frac{e^{-2v}}{v^4 \left( 1 - \frac{e^{-v}}{v^2} \right)} \\ &= \frac{1}{v^2} + \frac{e^{-2v}}{v^4} \left( 1 + \frac{e^{-v}}{v^2} + \frac{e^{-2v}}{v^4} + \frac{e^{-3v}}{v^6} + \cdots + \frac{e^{-nv}}{v^{2n}} + \cdots \right) \\ &= \frac{1}{v^2} + \frac{e^{-2v}}{v^4} + \frac{e^{-3v}}{v^6} + \frac{e^{-4v}}{v^8} + \frac{e^{-4v}}{v^{10}} + \cdots + \frac{e^{-nv}}{v^{2n}} + \cdots \end{aligned}$$

Where  $u(v)$  is the Aboodh Transform of function  $u(t)$ . Now taking the inverse Aboodh Transform, we get

$$\begin{aligned}\mathcal{A}^{-1}[u(t)] &= \mathcal{A}^{-1}\left[\frac{1}{v^2}\right] + \mathcal{A}^{-1}\left[\frac{e^{-2v}}{v^4}\right] + \mathcal{A}^{-1}\left[\frac{e^{-3v}}{v^6}\right] + \mathcal{A}^{-1}\left[\frac{e^{-4v}}{v^8}\right] + \mathcal{A}^{-1}\left[\frac{e^{-4v}}{v^{10}}\right] + \dots \\ &\quad + \mathcal{A}^{-1}\left[\frac{e^{-nv}}{v^{2n}}\right] + \dots \\ u(t) &= 1 + \frac{(t-2)^2}{2!} + \frac{(t-3)^4}{4!} + \frac{(t-4)^6}{6!} + \dots + \frac{(t-n-1)^{2n}}{(2n)!} + \dots, t > n\end{aligned}$$

where

$$\mathcal{A}^{-1}\left\{\frac{e^{-av}}{v^{2n}}\right\} = \frac{(t-n-1)^{2n}}{\Gamma(2n+1)}.$$

### Application 2:

Consider linear delay differential equation

$$u'(t) - \alpha u(t-1) = \beta, \quad (3)$$

with the initial conditions

$$u(0) = 0.$$

### Solution:

Taking the Aboodh transform of equation (3), we get

$$\begin{aligned}\mathcal{A}[u'(t)] - \mathcal{A}[u(t-1)] &= \mathcal{A}[\beta] \\ vu(v) - \frac{u(0)}{v} - \alpha \frac{e^{-v}}{v} [u(v) - u(0)\bar{u}(v)] &= \frac{\beta}{v^2} \\ vu(v) - \alpha \frac{e^{-v}}{v} (u(v)) &= \frac{\beta}{v^2} \\ u(v) \left( v - \alpha \frac{e^{-v}}{v} \right) &= \frac{\beta}{v^2} \\ u(v) &= \frac{\beta}{v^2} \left( \frac{v}{(v^2 - \alpha e^{-v})} \right) \\ u(v) &= \frac{\beta}{v^3 \left( 1 - \alpha \frac{e^{-v}}{v^2} \right)} \\ u(v) &= \frac{\beta}{v^3} \left( 1 + \frac{\alpha e^{-v}}{v^2} + \frac{\alpha^2 e^{-2v}}{v^4} + \frac{\alpha^3 e^{-3v}}{v^6} + \dots + \frac{\alpha^n e^{-nv}}{v^{2n}} + \dots \right) \\ u(v) &= \beta \left( \frac{1}{v^3} + \frac{\alpha e^{-v}}{v^5} + \frac{\alpha^2 e^{-2v}}{v^7} + \frac{\alpha^3 e^{-3v}}{v^9} + \dots + \frac{\alpha^n e^{-nv}}{v^{2n+3}} + \dots \right).\end{aligned}$$

Where  $u(v)$  is the Aboodh Transform of function  $u(t)$ . Now taking the inverse Aboodh Transform, we get

$$\begin{aligned}\mathcal{A}^{-1}[u(v)] &= \beta \left( \mathcal{A}^{-1} \left[ \frac{1}{v^3} \right] + \mathcal{A}^{-1} \left[ \frac{\alpha e^{-v}}{v^5} \right] + \mathcal{A}^{-1} \left[ \frac{\alpha^2 e^{-2v}}{v^7} \right] + \mathcal{A}^{-1} \left[ \frac{\alpha^3 e^{-3v}}{v^9} \right] + \dots + \right. \\ &\quad \left. \mathcal{A}^{-1} \left[ \frac{\alpha^n e^{-nv}}{v^{2n+3}} \right] + \dots \right) \\ u(t) &= \beta \left[ t + \frac{\alpha(t-1)^3}{3!} + \frac{\alpha^2(t-2)^5}{5!} + \frac{\alpha^3(t-3)^7}{7!} \dots + \frac{\alpha^n(t-n)^{2n+1}}{(2n+1)!} + \dots \right]\end{aligned}$$

where

$$\mathcal{A}^{-1} \left\{ \frac{e^{-av}}{v^{2n+3}} \right\} = \beta \left[ \frac{(t-n)^{2n+1}}{\Gamma(2n+2)} \right].$$

#### 4. Conclusion

The main features of the Aboodh transform are presented in this article. We applied a new integral transform, the Aboodh transform, to solve two the linear delay differential equations. We proved the existence of the Aboodh transformation. Some examples in applications are given to demonstrate the effectiveness of Aboodh transform. As a result, the aboodh transform reveals that it is very effective, simple and can be applied to the linear delay differential equations.

#### Declaration of interest

This work does not have any conflicts of interest and there are no funders to report for this submission.

#### 5. References

- [1] Lokenath Debnath and D. Bhatta. Integral transform and their Application Second Edition, Chapman & Hall /CRC, 2006.
- [2] G.K.watugala, simudu transform- a new integral transform to Solve differential equation and control engineering problems, Math .Engrg Induct .6 ,no 4,319-329, 1998.
- [3] Hassan Eltayeb and Adem kilicman, A Note on the Sumudu Transforms and differential Equations, Applied Mathematical Sciences, VOL, 4, no.22,1089-1098, 2010.



- [4] Tarig M. Elzaki, The New Integral Transform “Elzaki Transform” Global Journal of Pure and Applied Mathematics, ISSN 0973-1768, Number 1, pp. 57-64, 2011.
- [5] Mohand M. AbdelrahimMahgob and Tarig M. Elzaki, Elzaki Transform And Power Series Expansion On A Bulge Heaviside Step Function, Global Journal of Pure and Applied Mathematics. ISSN 0973-1768 Volume 11, Number 3, pp. 1179-1184, 2015.
- [6] Tarig M. Elzaki&Salih M. Elzaki, On the Elzaki Transform and Ordinary Differential Equation With Variable Coefficients, Advances in Theoretical and Applied Mathematics. ISSN 0973-4554 Volume 6, Number 1, pp. 13-18, 2011.
- [7] Zain Ul Abadin Zafar, ZZ Transform method, IJAEGT, 4(1), 1605-1611, 2016.
- [8] R Najafi, GD Küçük, E Çelik, Modified iteration method for solving fractional gas dynamics equation, Mathematical Methods in the Applied Sciences 40 (4), 939-946, 2017.
- [9] K. S. Aboodh, The New Integral Transform “Aboodh Transform” Global Journal of Pure and Applied Mathematics, 9(1), 35-43, 2013.
- [10] K. S. Aboodh, Application of New Transform “Aboodh transform” to Partial Differential Equations, Global Journal of Pure and Applied Math, 10(2),249- 254, 2014.
- [11] Abdelilah K. Hassan Sedeeg and Mohand M. Abdelrahim Mahgoub, Aboodh Transform Homotopy Perturbation Method For Solving System Of Nonlinear Partial Differential Equations, Mathematical Theory and Modeling Vol.6, No.8, 2016.
- [12] Abdelbagy A. Alshikhand Mohand M. Abdelrahim Mahgoub, A Comparative Study Between Laplace Transform and Two New Integrals “ELzaki” Transform and “Aboodh” Transform, Pure and Applied Mathematics Journal, 5(5): 145-150, 2016.
- [13] F. Shakeri and M. Dehghan, Solution of delay differential equations via a homotopy perturbation method, Mathematical and Computer Modelling, vol. 48, no. 3-4, pp. 486–498, 2008.
- [14] Z. K. Wu, Solution of the enso delayed oscillator with homotopy analysis method, Journal of Hydrodynamics, vol. 21, no. 1, pp. 131–135, 2009.
- [15] A. K. Alomari, M. S. Noorani, and R. Nazar, Solution of delay differential equation by means of homotopy analysis method, Acta Applicandae Mathematicae, vol. 108, no. 2, pp. 395–412, 2009.